Hﬁ%ﬂ NO 1
A H =0 =
1 BEOULNEZZZTUHICHTIIERAEEZEHRE,
Q) 23 + 34
23 |C =LT : 2 4 Z7=LT
[C75%,
@ 87 — 63
87 M =MNT , pap Y 3
ZMNT. [C/RVE T,
2 | ROFTEAERBETLAI,
@D 12 + 15 @) 17 + 50
® 48 + 32 @ 65 + 23
® 54 + 37 ® 49 + 67
@ 23 — 11 43 — 21
©) 73 — 40 o0 — 23
a 58 — 27 @ 90 — 13
BZ2FEDFETI b

1 http://drill.es70.com/



@ © Q@ © ®© 0O |~

23 + 34
23 IZ |30 |Z&/LT
57 |IZ15%,
87 — 63

53

53 |IZ 4 ZLT

87 M5 60 [ZMNT

2T,

27
80
91
12
33
31

24

[CIFVET,

® @ @ @ &® ©

27

67
88
116
22
37
/7

BEFDQDFEBFTUU
http://drill.es70.com/



